(% T@&waéﬁ, @L{VJ{Lﬂmms . Clt/tc( &p/[uf‘ f’@éékf/f’(
/! @6} Ofo ¢ C(:f%[fﬁc]/fﬁc’{/i (f'm f:/

{) U/£ Lol e J,uoec( 4 Tﬁfv’ac,[ccr/\ /,”W(c‘ c,l o.ﬂ
'}QLQQ( CQ.MY._ va\:féz—%— )1 ’
' . \,<@ §j:- L fval :
Q r' (r,e [qu{)‘e D, Wﬁq_?};{f dé-(!f" ‘\;ﬁjﬂ@g‘:\ l{]n)/ !i (Lg‘( eV 0 Afl% _,.:

ol /’VDZ;QMC ( W,m Ve "ol

(< ot = f /emf zg V@q/

/mpgr%em[\@i«f of ek vt / reid@d
1L e Shape

| ' g LT_LV”.QQ, /émﬂz@hg
@ 6 o paind dapends

_ Focuts
e O s VQ} C/(lqt/rca f’foh

@/m[cq/ aX 1§
Fix - (Pc;ufaLo}c (e n s
Color  aberadiong
@/f( b= G )[’%@
iLWL e w/oﬁ”

© a{ zm/c%e OCMI”Q “ >
df%{;/em me = ﬁ
i~ {
i

Rl o o Moo et
o5 S o (OO0 er 1“@7(@ Wﬁeﬂm



7_’[25&0/%&'
/Zé’f - /ﬁarglm( ~ ke w f?/awe,vL [/(mqb(,g

with _ reglctor  elescope

1805 180 /&@Z\a/ Liverg  ChaT fjf%eaq
ofé” 'in <a(clk éjzy wu/f/Jd/Z?c(
N Zd)jr old P@o@/—c{j

Jane wy — e ot (47@
érjl\vimiﬂfj as C/u /€ Wd_/f



lwosphere  — Huge problem
Why fur dwinkl <> scinlilldion

w{”j’ /A/gmfg sre not

\ 5
/\S%“/“ <l o P

/w wts
,//,; wrrbff{vé//

=/ (ércu[ Zesl ‘9'2§
wihicll s ceaaller Slen

1.2 -%

e —

U/miows of %mm(/oalfem,y @f ndmtuwfﬁ'@’?

xoplua/ Mf/tc{ogf .

4 Lo | hdo
éﬂﬂﬂ W [l qimooc;z\{r ' ((/Vef LQC ,_?:‘
- AL - / yo0d po

) zmz w

V’L{ rO

/\\

EQJ,'U/ )‘., /ay) (ﬂi :/’g(y — qs;z/‘ab?@"%/



Reea| Hhat

MM@/?/@KZZ /Nw I Z@m’»\ — A 2 B
R fow do we mieasure  Gfar /‘aqm//a,)(
?'7[' Céfogff/ O£ 'ﬂqaf @{) o~ O,;Zé@

2L

/

A P?fﬁemho[ﬁ/ metuwfft/mwy(s’

Vel b~ had  abock clars_diawelers

Ref _ _?\_ﬂ &q\b
—'-“"ZZZD - z

g

@ﬁ‘/t[wm‘& Ref = (000 €e = /03' ;Y'/Z’gmm
g § = 200pc = 200 BN
A = 00 nuy

2z D= coo+620 6=

e o A /Y)
B = 4, 42 1

hud B - Bsl = goc%
i 5 /’
no  way dwe 4o adwosphere |
S e !“DZ ¢ & ;mf{g Mu"ma/,




ain C{ Q{ & Y deriafyonf

TN e
4w i fee lechure -
grﬁ] r S-e/f) ]&olf 0_\&:61 ; [

/r/{;f Z\z( SO ;kJ—{W®&W

e T"

!—\€ - cll—P Ld sy B <—Cl1‘

;C[?_‘c(\ + l_ciS;b\V@ e

o e " T fred S
\SFdf;iwu = m‘hi)& = VI f(@’ J

e —
.Jl:\/é’ +(z-d)° ’“gl/{“”kz)

_ L A r’>?d
Je - d = &é&’z H_L) —  ex=d)* > -

— v,
— =gt



52%(7+A)L = R b 0 ed & d°

AC = %’".+ 2d sl = %('g“* gm@)

—
=

o\cl(%Lg;w) = B\ N e cend

( L} Stue ) =3 W_L
e 7 e rouA -—/t
| ,FMOW\ +7C p G d 'W\Q% £

Wz want W\_HW\@K | >

U0 g?qLLcui';pmg
- Q’ﬁu 2 se«pw"ﬁtle span
1) One parge  (tor

&
>‘ = N (M#’f
(%+3Fm9}z%+z oK )
VA X

pa

Belel pruse :
7 1 =3 ! e /6706’76’ %ﬂ’/ﬂ Al - }__.
@. = (00 Rs 2 :

g~ 100pK 2000 5[ #1077




